Order of Operations Practice

Name: Date:
Question 1
Solve the equations
| 9+72+143= V. 75-34-20-45=
. 88-44+21-35= V. |{5.52[11(55+66)]} =
Il -45+15--3= v 12+45+33+77
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Order of Operations Practice

VI 48 +12-4+7 = X 2(8+7-12) =
6,4 4
vl + 51 4 71 x, 7T T
6 16 16 132-](40-45)7
N
X 2.5,8 _ i1+ 4 3.1
3 6 16 5 18
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Order of Operations Practice

Name: Key

Question 1

Solve the equations

| 9+72+143=224

. #1
81
= 'Ljf 204
+ :

224,

. -44+21-35=779

#2| - # | x

44

#3|+

779

Date:
V. -34-20-45=-24
. #1
41
34. |- #2 o1
- 45,
-24.

Vo {BE2[1(B5+66)]) =

#3| x # |+
121

#2| X

|
#4|x

#5 | abs. value

+33+
Vi =4175

167

#3|+

90

#2 |+

57 ~ 4175

#1|+
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Order of Operations Practice

VI 48+12-4+7=7 X 28+7-12)=6
}H—E‘ #1 | distributive law
4 +14-24
#2|+
30
#3 |+ #3 |-
7 6
—
g A 14
#1A|+ * /
VILa— + 5— + 7— =15.188 Xl. =0.286
- (40-45) #3A/HEB 2
l convert - 7
vl
— + — + — = -5
#4A/#6B | +
#2Blexp. 0.286
- -
130 w2 243 15188 #3B]abs. value
16 A
|
L #48| -
7 7
X 2.5,8 _g6i0 i1+ . 3-1 _o7g9
3 6 16 O
# | x 40 | = #| + #3 | +
7 0.8 0.611
128

703 s
—— — 0.61
1152 ~ 0.610 © 2025 Step By Stem



